
Name ANSWe巳S February25’2019
Instructions: No calcuIators! Answer型probIems in the space provided! Do your rough work on scrap paper.

1. Definethefollowing:

(a) ! f(豆y)ds =

(b) !函=

〔油)t十(埴))弓と

需(細).紹)J亡

f(母性力持局で

(where C is a smooth curve parametrized byF(t) =< %(亡),y(亡) >. No shorthand, fIesh outfull definition.)

2. Statethe equation inthefundamentaltheoremfor iine integraIs:
・措く在組)-

3. Whatd。。S一,m。。n,。Sa画,S。。nS。rvat,Ve′′了手車f生i。一| SC山r皐,古r壬

4. Let卓=< P毎y).0毎y) > bedefinedonanopen,SimplyconnecteddomainD.SupposePand O have

二韮っ二重
continuousfirstpa刷derivativesonD・WhatequationwouIdyouusetocheckifFisconservative?つむ　2x

5 (a,Assum。f(研,=XSlny高2z.。。m。ut。。f二〈s里十Z.痔, Xc軸, ㌔〉

(b) Let C be the piece-Wise smooth curve defined by: The line segmentfrom (1,0,3) to (1,0,0), followed bythe

circuIar arc f「om (1,0,0) to 〈-1,0,0), then foIIowed by another line segmen而(-1,0,0〉 to (-2, 7T/2, 1). Compute:

dデ= (-,串)ニ　ー

Where F(亡) is vour parametrization of C,

1. Thefield F = < ey +yz- 2Jey +%Z,労y > hasa (scalar) potentiaifunction/(X,y,Z).Youdonotneedtoverify

this. Find the generaI form ofthis potential function.

f面z,=湿り十≠咋一己ス十C

2. Statethe equation in Green’sTheorem: f戸右Q均二㌦Q両雄
3. Desc・一bewhatailthesymboIsmean intheequationabove. Cし甲Cc山t∫C- SへOOtL`,函可

○ぐ、巳Jし生し興れ∪…・つは「坤o吊eu重んJ b C・

笠字幕畠豊吉岩畳富山
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